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. Find ' (30%)
@)y = \/ta113(:1;4) + 12

(b)y = cosxcotxcscx
z? + 1) (z® + 1)
@)y=:( 31% ’
(d) hl(iv—) =z+y

Y
(e) y = (Inz)&”

() y = 208

2. Determine values of a and b that make

the given function continuous.(4%)

22T iz <o

T
flz) = a, ifz=0
bcosx ifz >0

3. Determine all vertical and horizontal

asymptotes. (6%)
(

4
xiy ifz <0
flz) = < , 1f0<z<4
¢ ifz>4
\ T+ 1
4. 1f f(z) = cos(2z + 1), find fU103)(g),
(5%)

5. Find the indicated limits (10%)

10.

(@) lim (Inz — x),
1

(b) lim (=)=

I—00

. Evaluate the integrals (25%)

1/x
(a) / er dx
(b) /ln(Q:E + 1)dz
(c) / sin z cos® zdz
ax
(d) / o ba:dm

(e) / 7_;}\—3/:9;(1:1: (Hint: v = ¥/x)

. Prove that (3%)

/(ln z)"dzr = z(In :c)"—n/(ln )" ldr

. Sketch the curve r = 3(1 + cos 0) in po-

lar coordinate system and find the area

that it enclosed. (8%)

. Locate and classify all critical points for

flz,y) =2° + 2% — zy + 32 + 4. (4%)

Find the Taylor series of the given func-

tion f(z) =lnzatz = 1. (5%)




